Parts List

Assembly Instructions |

D 1mage description qty

A | m| Chairback 1

_ -

B v Seat Cushion 1

C / Front Leg 2

) D / Rear Leg 2

| Hardware parts
] (= Bolt 2-1" 4
U \U 2 | omom Bolt 2-3" 8

1.Itisrecommended that 2 adults assemble this chair. 3 Flat washer 12

2.Do not tighten any bolts or nuts before all bolts & nuts are in assembled position.
3.Please check the bolts regularly. 4
4.Spot Clean with soft damp cloth.

spring washer 12

5 Keep the instruction manuel for future use

)
6.Maximum weight capacity:250 Ibs. 5 l Allen ke 1
MADE IN CHINA Y




Assemble the seat cushion (B)to chair back(A)

. : Insert the rear leg (D)into the seat part(B), Insert the front legs (C) into the seat cushion (B)
using bolt #2,spring washer #4 &flat washer #3 using bolt#2,spring washer#4&flat washer #3.

using bolt #1,spring washer #4& Flat washer #3
DO NOT TIGHTEN THE BOLTS ON THIS STEP. DO NOT TIGHTEN THE BOLTS ON THIS STEP. [ DO NOT TIGHTEN THE BOLTS ON THIS STEP.

Step5 Complete

Step4

Put chair in upright position and sit on

Tighten all the bolts and use non-woven
the chair to ensure it is leveled.

cover to cover the bottom of the seat.




	1.jpg
	2.jpg

